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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-VIII « EXAMINATION — WINTER - 2016

Subject Code: 3361306 Date: 26-10-2016
Subject Name: Environmental Impact Assessment
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.
Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.
English version is authentic.
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Q1 Answer any seven out of ten. €21Hill SlEURL Ulctoll ellol WU, 14
Define term ‘Environment’.

clluALRld 5 “ualareL .

Define term ‘Environmental effect’.

clluARd 5 “walaelal AU’

Define term ‘Environmental quality’.

AR 5 “valaRela saadldl.

Define term ‘Environmental attributes’.

cllvAl@d $A “valaRella Ageye .

Enlist the method to achieve ‘Sustainable Development’.
2816 [As 1ol utufdAlell atel watldl.
Enlist classification of ‘Environmental Impacts’.
YallaRellal AR ofl collseLell el coticll.,
Define term ‘Desirable Impacts’.

cquAlRd 5 ol AUAA,

Define term ‘Environmental change’.

VAR $A “valaRpla o,

Define term ‘Environmental degradation’.
AR 52 “valaRella ualsy .

Define term ‘Environmental impact analysis’.
cllvAl@c $A “UalaRela WuRe] YeauswL.
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Q.2 Enlist requirement of good E.I.A. 03
Yal.? (W) AURL 8.l Hzell w3Raldell A€l stottal. 03

OR
() Draw neat sketch of ‘Regional carrying capacity of sustainable development’. 03

1) 251G [Asta 1R Aetct 3301 FUAED ofl 29 20 €12 03
(b)  Write objectives of ‘Public Participation’. 03
(W) o913 lelRl oll 4 AWl 03
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OR
Write advantages of ‘Public Participation’.

o182 MeR oll slAERA .

Differentiate between ‘Quantifiable Impacts and Non-Quantifiable Impacts °.

dsteld Al “URHWRML AR Al AURHWRM2A wuR’.
OR
Differentiate between ‘Long term impact and short term impact’.

dstad Aul: ‘@iolt autell AU U &5t duouell AR’
Explain about ‘Proponent’ player of E.I.A.
8.8, ol “Ydlele’ WaR (A cvll.

OR
Explain about ‘Decision maker’ player of E.I.A.

8. 08,0, ol BUlRat A5 A2 QA Al

Draw value function graphs for ‘pH'.
‘pH' oll AR} $59lol oll a9 UG €.

OR
Draw value function graphs for ‘SPM'.

‘SPM' oll AR} $59l0tl oll 2189 oUg €.
Explain in brief about ‘Activity that affect attributes’
A clEl ¥ Adlogged A WA 5 & Aoll (AN g5HL AW

OR
Explain in brief about ‘Variable to be measured in attributes’

AglogeuHi AR ol Hugl (A gsHi el

Explain in brief the importance of describing ‘land use’ in EIA.
8.8, 0. Ul “gtlot oll dURAW e} Heeel [AA &5 Ui vl

OR
Differentiate between ‘Rapid EIA and Comprehensive EIA’.

dstadd Aull: ‘B3sUl 8. 208. 3. Wl cUUS 8. 3e. .
Identify ‘Primary Impacts’ for construction of new township.
acl 2al@2llu ol eiusiH grllet Gedadl “Uams WU AW,

OR
Identify ‘Secondary Impacts’ for construction of new township.

otcll 2tGallU oll atitusiH gr2llol Geatalcdl “OURL AU W

‘EIA is a paper tiger’. Give your comments.
‘6. (8.7 51010 URell cllel B (Qtllel UR MR Hclcl AW,
OR

Explain in brief the ‘Evaluation’ step of EIA and highlight its importance.

.38, A of ‘BARMARU dofl WAL A gsHL AV
Explain Purpose of Environmental Impact Assessment (EIA).
UalaRglell AR ofl sl 424 sl

OR
Explain the method of environmental assessment.
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ALl WA ofl 2s10le(l urudlzl wseud.
What do you know about EIA report? Explain in detail.
vallaRele(l AR ofl sRQl ol Mdald Aed 9j? ([AotdaR

Al

Who is involved in the prediction of impacts?

WAA] WofHiol Ul Sloll AHAA sACUHL wA B7?

Why E.I.A. should be prepared by project proponent only?

Al HIZ 8. 38, HAL “Ulgse YUlale’ gl dalk scllHl ud B2
Differentiate between ‘Acceptable and non acceptable impacts’.

dslad AWl: ‘WAsAUSHA 3ol ollol- AsAUSHA UAR 7.

Identify ‘tertiary Impacts’ for construction of new township.

olcfl 2tGallu ol siusid er2iot Geatadl ‘qldau A’ AW
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